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-XGXO �� 0DQDMHPHQ� 3HQJHORODDQ� 6DPSDK� 2OHK� 8QLW� 3HODNVDQD� 7HNQLV�

�837��7HPSDW�3HPEXDQJDQ�$NKLU��73$��6DPSDK�GDQ�,QVWDODVL�
3HQJHORODDQ� /LPEDK� 7LQMD� �,3/7�� 'L� $LU� 'LQJLQ� .HOXUDKDQ�
%DODL�*DGDQJ�.HFDPDWDQ�.RWR�7DQJDK�.RWD�3DGDQJ�

3HQHOLWLDQ� LQL� GLODWDUEHODNDQJL� ROHK� EDX� \DQJ� PHQ\HQJDW� \DQJ� PHPEXDW�
WHUNRQWDPLQDVLQ\D�DLU� WDQDK�GLVHNLWDU�7HPSDW�3HPEXDQJDQ�$NKLU� 6DPSDK�GL�$LU�
'LQJLQ�� +DO� WHUVHEXW� PHQJDNLEDWNDQ� WLQJJLQ\D� WLPEXQDQ� VDPSDK� \DQJ�
PHPEDKD\DNDQ�EDJL�SHNHUMD�GL�7HPSDW�3HPEXDQJDQ�$NKLU�6DPSDK�GL $LU 'LQJLQ���
7XMXDQ� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHQGHVNULSVLNDQ PDQDMHPHQ� SHQJHORODDQ�
VDPSDK� GL� 7HPSDW� 3HPEXDQJDQ� $NKLU� VDPSDK� $LU� 'LQJLQ� .HOXUDKDQ� %DODL�
*DGDQJ� .HFDPDWDQ� .RWR� 7DQJDK� .RWD� 3DGDQJ� VHUWD� PHQJHWDKXL� GDPSDN� 73$�
WHUKDGDS� PDV\DUDNDW� VHNLWDU� 7HPSDW 3HPEXDQJDQ� $NKLU� 6DPSDK� $LU� 'LQJLQ�
.HOXUDKDQ�%DODL�*DGDQJ�.HFDPDWDQ�.RWR�7DQJDK�.RWD�3DGDQJ�

-HQLV�SHQHOLWLDQ�\DQJ�GLODNXNDQ�DGDODK�SHQHOLWLDQ�NXDOLWDWLI�GHQJDQ�PHWRGH�
GHVNULSWLI�� 3HPLOLKDQ� LQIRUPDQ� DGDODK�PHQJJXQDNDQ� WHNQLN� SXUSRVLYH� VDPSOLQJ��
,QVWUXPHQ� SHQHOLWLDQ� GHQJDQ� PHODNXNDQ� REVHUYDVL�� ZDZDQFDUD� GDQ� VWXGL�
GRNXPHQWDVL��

+DVLO�SHQHOLWLDQ�LQL�PHQXQMXNNDQ�EDKZD�PDQDMHPHQ�SHQJHORODDQ�VDPSDK��
GL� 73$� DLU� 'LQJLQ� .RWD� 3DGDQJ� � VXGDK� WHUODNVDQD� GHQJDQ� EDLN� 'DODP�
LPSOHPHQWDVLQ\D�GLODSDQJDQ� WXMXDQ�SHQJHORODDQ�VXGDK�WHUFDSDL�GHQJDQ�EDLN�GDQ�
RSWLPDO� .HQGDOD� \DQJ� GL� DODPL� ROHK� 73$� $LU� 'LQJLQ� .RWD� 3DGDQJ� GDODP�
SHQJRODKDQ� VDPSDK� \DLWX� � KXMDQ� NDUHQD� KXMDQ�PHQJDNLEDWNDQ� MDODQ� NH� � GDODP�
73$�LQL�PHQMDGL�UXVDN��MDODQ�NHGDODP��73$�PHUXSDNDQ�MDODQ�WDQDK�VHKLQJJD�WUXN�
SHQJDQJNXW�VDPSDK�WLGDN�ELVD�PDVXN�NHGDODP�DUHD�SHPEXDQJDQ�DNKLU�VDPSDK�

.DWD�NXQFL���PDQDMHPHQ�SHQJHORODDQ�VDPSDK��7HPSDW�SHPEXDQJDQ�VDPSDK


